Y N Y Y Y N N Y Y Y N Y Y Y N N Y Y Y N Y Y ¥ N N Y Y Y N ¥ Y ¥ N N Y Y Y N Y Y ¥ N N Y Y Y N Y Y ¥ N Y Y Y Y N Y Y ¥ N Y Y Y Y Y Y Y Y N Y Y Y Y Y Y Y Y N Y Y Y Y Y Y Y Y N Y Y Y Y Y Y Y Y N Y Y Y Y N Y Y

SUBSTATION SS2

TRANSFORMER (BY OTHERS)

18'—4" UNIT

13
216 P

N
N,
I
o
ENIN

2’—6”

4!_3_”

W8X24 (TYP.) 7
13AB3 4

’ én
=35 F.V.

12'-5%" F.V.
N.T.S.

Q”T
33

TOP_OF ROOFING

"
-

&

= AREA OF WORK
KEY PLAN

N

@

/ (BY OTHERS)

1:,
105
V.ILF
Z”

8
V.

L — :

— =\

o
<-| 4'-6" UNIT
- ’ 1)1 l
] 3—|12 34
of
EX. JOIST S . : =
> =i ] 13AB3 W8X24 —
s ) FX_J0ST ¢Th
5 < Y
= 5 5 N
< . 3
I b
'“’|7 =
"<|- <
] >
) L
1 | 13AB3  W8X24 —
T /
1 W8x24 —
P. j
% JE (EX_JOIST (T
J ] N\
_ i
= o 18 5
- N «>< S
| B =
‘00 &= ~
~ : (EXJOIST (TN
] L 13AB3 Wax24 ~
i? <
~ !
1M
. N/
| <
™~ ]
. 1L Y3AB3  WBX24 —
g <
= )
“<|- <
s : SUBSTATION SS2
& 15|/ | [TRANSFORMER (BY OTHERS)
™~ IS
EX.JOIST %¢>_;
Zeol = 1 13AB3 wax24 —
= S ( EX. JOIST ¢
MO 3 . \

PARTIAL ROOF PLAN AT TRANSFORMER

SCALE 3/4°=1"-0"

, 0" ) EXISTING ROOF JOISTS
SCALE 3/4"=1"-0"
SUBSTATION SS2
TRANSFORMER (BY OTHERS)
18'—4" UNIT
i3 2-6" 2-6" 26" -85 33 63"
wax24 (TYP.) | L | | |
13AB3 1 | | |
. é é i i TOP OF ROOFING
. i i W12X30 (BY OTHERS)
; | | [ 13pB2
LOICO
| , ! / R m._._' ‘iC'D‘\‘L_'_
- R = R
JT' EXISTING ROOF JOISTS
1” )_ )_ _” )_ 1”
85 5-10 ‘ 34" VIF. L 8'-45" F.V
| 7

/_\/

4'-6" UNIT

3" [SUBSTATION 552
J%T TRANSFORMER (BY OTHERS)
©

f N
Nl
B

oli3agz  WBX24 :
W12X30 W12X30
Vi
311
SECTION C

SCALE 3/4"=1-0"

@ =N W8X24

Q N

\\ (2)— 3/4"¢ A325 BOLTé
(M

— 3/8X4X5 SHEAR PLATE
W12X30

TYPICAL CONNEC TTON

e
L

1

SCALE 3/4°=1-0"

TYP
3/16 V1

3”
V.LF.

2'=4" V.IF.

3,!
V.L.F.

(2)- 1/2"8 SOLID BAR

(A572 GR. 50) FIELD TRIM
TO MATCH LENGTH OF
EXISTING TRUSS CHORDS

EXISTING TRUSS

W3 INTO WT2

SCALE 1 1/2"=1"-0"

(4)- 3/4°¢ A325 BOLTS

W/ 13%6"X1" SLOTS IN 5" 5”
PLATE (3%" GAUGE)

SECTION D

SCALE 3/4"=1-0"

I

1/4 \_ 2"@ ENDS &

%" AT 12"

SECTION E—t

SCALE 1 1/2"=1"-0"

1/2X6X1°=1" CAP_PLATE

|

A A A A A

W12X30

TOP_OF ROOFING
(BY OTHERS)

L~

) /

5"% PIPE_STUB (SCHED. /
40) (5.56” 0.D.)

3/8X6X6 BASE PLATE
EXISTING TRUSS

TYPICAL STUB CONNECTION

SCALE 1 1/2°=1"-0"

1. V.ILF. INDICATES DIMENSION TO BE VERIFIED IN FIELD

GENERAL NOTES:

2. F.V. INDICATES FIELD VERIFIED DIMENSION
3. ALL CHANNELS, ANGLES, AND PLATES TO BE ASTM A36 U.O.N.

4. ALL WIDE FLANGE SECTIONS TO BE ASTM A992 U.O.N.
. ALL HSS SECTIONS TO BE ASTM A500 GRADE B U.O.N.

S
6. ALL PIPE TO BE ASTM A33 U.O.N.
7. ALL MECHANICAL TUBE TO BE ASTM Ab513 U.O.N.

0C ON_ CENTER

STEEL DETAILING LLC
OCSTEELDETAILING@GMAIL.COM

REVISION DESCRIPTION DATE BY
1 SHOP DRAWINGS FOR FABRICATION & ERECTION 10/7/2016 IS
0 SHOP DRAWINGS FOR APPROVAL 9/15/2016 TS

MATERIAL: SEE GENERAL NOTES BOLTS  %'¢ A325 U.O.N. UNO

WELDS:  E7OXX ELECTRODES

PAINT HOT-DIPPED GALVANIZED UNO

TOR FABRICATION:
10/7/2016

PROJECT NAME:

FRESH DIRECT — HARELEM RIVER YARDS

CUSTOMER:

FRESH DIRECT

GENERAL CONTRACTOR:

REFERENCE DESIGN DRAWINGS:
A-0.52, 5-101.02, S-201.00

DRAWN BY: TS

DATE: 9/14/16

CHKD BY: —

JOB No.

1014

DRG No.

M135—1

REV.




BILL OF MATERIALS
131112 REQ. [ PC. MARK SHAPE LENGTH REMARKS
1 13ABT W12X30 19°[ 1% [ ASTM A992
65" 3-2k 582" 8- 212" 10~k 13-21 18'- 330" 2l - 8 | pbf PL3/8X4 0| 5" | ASTM A36
%/ J— ﬁ/ - — R — 1/4
[x X [x X [x 1| 13AB2 W12X30 19'[1%6" | ASTM A992
=i — —s L I —I —IN —IN —I = 8 pb1 PL3/8X4 0| 5 ASTM A36
N N N NI N h— o~
N N N N | N . 2 ¥ N | s
P P! al P! pp! pb Po! pbf I 8 | 13AB3 3 100 | ASTM A992
13AB!1 W8X24 4
X | X | | X X | X | |
L L Le Le L 137 ryq” 16 | 13AB4 L3X3X1/4 2] 3 ASTM A36
/5 (37" GAUGE) = o (3% GAUGE) 3, (3%" GAUGE) Ay 9. (1)= 3/8X4X5 SHEAR PLATE 16 | 13AB5 1/2°0 ROUND BAR |8 | 0" | A572 GR. 50
515 10 =516 | 107 =91 | 10" B-115 | 107 16 W12X30 P
SECTION X—X 8 | 13ASt 5" PIPE (SCH. 40) [ 1 | 3 ASTM A500
_ 8 pct P1/2X6 7|1 ASTM A36
(1)- WI2X30 AT 19'-13" LG.
8 | 13AP1 P3/8X6 0| 6" ASTM A36
(1 REQ.) 32 |FIELD BOLT| 3/4°® A325 GALV. | O | 2° | SHIP LOOSE
32 |FELD BOLT| 3/4°¢ A325 GALV. | 0" | 2%" | SHIP LOOSE
5’—6%” 15’_6%”
r” ’ 1_” ’ ﬂn » ﬂn '’ ﬂn e WA 1 g »
55 4-975 8 -0 10-675 13'-03 18 -37g 1 11 1 iog; Eép&s%]g )(SCHED.
n A» N " 1—’ . U,
2 __—___—__— e 2 ° /2 1/2X6X1'=1" CAP PLATE
N E e — e S e S _ /
NN pb1 N 1 b1 ~N o~ b1 ~N o~ b NN =Y
— ; ' ; ; ; i3 ; ; © | Sy - N o) - 1%6"X1” SLOTS
X / X \ X / "~ L7
X ) X X ) X 1%6"8 HOLES
136”8 HOLES 1%15 % HOLES "%6"¢ HOLES (3%" GAUGE) -
5%” . (3% GAUGE) (3% GAUGE)G’—Arm" o g g5 . (3%" GAUGE) 18’—1%" e 1%,, i 773 TYP
16 rogo
— VENT HOLE 13%6"X1” SLOTS
e 1/2X6X1'=1"_CAP_PLATE
cl
(1)- WI2X30 AT 19'-13%" LG. =+ | P
15ABZ "
A (1 REQ.) o
3-115" REF.
37 X1" BLK. 37 X1 BLK. | 13AST
| 1)— L3X3X1/4 AT 2-3" LG (8 REQ)
-. (1)- / -3" LG.
f NOTE: MILL FINISH — NO GALV.
\U'¥s’¢ HOLES %6'8 HOLES /|y (16 REQ)
H l,!
(1)- W8x24 AT 3'-105" LG.
(8 REQ.) \ 3/8X6X6 BASE PLATE CENERAI NOTES:
13AP] 1. V.IF. INDICATES DIMENSION TO BE VERIFIED IN FIELD
2. F.V. INDICATES FIELD VERIFIED DIMENSION
(8 REQ.) 3. ALL CHANNELS, ANGLES, AND PLATES TO BE ASTM A36 U.O.N.
4. ALL WIDE FLANGE SECTIONS TO BE ASTM A992 U.O.N.
A 5. ALL HSS SECTIONS TO BE ASTM A500 GRADE B U.O.N.
6. ALL PIPE TO BE ASTM A53 U.O.N.
, , 7. ALL MECHANICAL TUBE TO BE ASTM A513 U.O.N.
REVISION DESCRIPTION DATE BY
(1)~ 1/28 GR. 50 ROUND BAR AT 80" LG 1 SHOP DRAWINGS FOR FABRICATION & ERECTION | 10/7/2016 | TS
0 SHOP DRAWINGS FOR APPROVAL 9/15/2016 | TS
NOTE: MILL FINISH — NO GALV.
(16 REQ.)
0C ON CENTER _
STEEL DETAILNG LLC || [MATERIAL:  SEE GENERAL NOTES BOLTS 3¢ A325 U.ON. UNO
OCSTEELDETALINGGGMAILCOM | [ WELDS:  E70XX ELECTRODES UNO | PAINT HOT-DIPPED GALVANIZED UNO
PROJECT NAME:
COR FABRICATION: FRESH DIRECT HARELEM RIVER YARDS
CUSTOMER: GENERAL CONTRACTOR:
10/7/2016 FRESH DIRECT
SEFERENCE DESIGN DRAWINGS. DRAWN BY: TS DATE: 9/14/16 CHKD BY: - —
A-0.52, S-101.02, S—201.00 JOB No. DRG No. .
1614 TIHA |




